FTHTEE FITRKRRERAR—YKRE NR7ybR—ILEEEEE

12 INRTYybR—IL

1. #i&E
[(BFATOVY] [(BFBTJOvY]
3{LIRTE SHLIRTE
6A 6B
13:40 13:40
R R
8A 8B
15:20 15:20
3A 3B 4A 1B
11:10 11:10 12:00 12:00
@ @ ® @ ® ® @
e & = PN 53 ES a] T
=3 % W = B = 3 =
n = il m m m B m
] ]
[ZFATOvY] [ZFBJOvY]
BHLIRTE BHLIRTE
5A 5B
12:50 12:50
R R
1A B
14:30 14:30
1A 1B 2A 2B
9:30 9:30 10:20 10:20
® @ ® @ ® ® @
e Cl # ¥ VS =5 X b
3 B t = B H 1] P
m m m m m m il J
7]

2. REBEB 0D /N\—T F1-404+—8— N—TF1L55)
D 9:30 @ 10:20 @ 11:10 @ 12:00
® 12:50 ® 13:40 (@ 14:30 15:20

3, T4 ¥ILEIAT
F1EHE Ad—+ BFO Ba—+ BFOQ
#4448 Aa—+ BEFQ® Ba—+ BF®

fth(E, I EDEITF—L



